NIRA PUMPS Oy
P.O. Box 54
38201 Sastamala

W)

Tel: +358 10 830 6700
Fax +358 10 830 6702
Email nira.info@nira.fi
www.nira.fi

Pricelist 2015
Price per unitin Euro

CANIRRD NIRA Handpumps

Code Name of the Product Price VAT 0%
1000 NIRA 1 Antique 764,85
1080C HDPE Pipemodule 50 mm x 0,5 m 48,40
1081C HDPE Pipemodule 50 mm x 1,0 m 52,55
1084C HDPE Pipemodule 50 mm x 3,0 m 116,60
1001 NIRA 3B Handpump 504,30
1067SB NIRA 67 BLUE pump set (2*1,0mt pipe modules and the cylinder) 618,80
1067SG NIRA 67 GREY pump set (2*1,0mt pipe modules and the cylinder) 618,80
1067SR NIRA 67 RED pump set (2*1,0mt pipe modules and the cylinder) 618,80
1067B NIRA 67 BLUE pump with the cylinder, without pipes 523,20
1067G NIRA 67 GREY pump with the cylinder, without pipes 523,20
1067R NIRA 67 RED pump with the cylinder, without pipes 523,20
1067 (B-, G-, RLK)[NIRA 67 PLAYGROUND (blue, grey and red) 798,50
1101 NIRA 6B Handpum 1" Flange, in Carton box 155,80
1101PB NIRA 6B Handpum 1" Flange, in Plastic Bag 155,80
1102 NIRA 6B Handpum 3/4 Flange, in Carton box 155,80
1102PB NIRA 6B Handpum 3/4 Flange, in Plastic Bag 155,80
1104 NIRA 6B Handpump with the Viton seals 227,75
1110 NIRA 6B Handpump set 190,00
1172AR NIRA 6B ARCTIC Handpump 1" Flang (for oli and diesel oil) 190,55
1173AR NIRA 6B ARCTIC Handpump 3/4" Flang (for oli and diesel oil) 190,55
1106 NIRA 6B Handpump with the EPDM seals 209,60
1120 NIRA 9 Handpumps 1%." Flange 230,10
1121 NIRA 9 Handpump 1%2" Flange 230,10
1122 NIRA 9 Handpump with Viton seals 356,20
1130 NIRA 2 Barrelpump (M64*4 ja R2") 91,40
1131 NIRA 2 Barrelpump with the Viton seals 146,06
Code Spare parts for NIRA 67 hand pump Price VAT 0%
R14766H Cover Grey 14766 34,65
R14766P Cover Red 14767 34,65
R14766S Cover Blue 14768 34,65
R406 Rubber plug 4,60
R14832 Cover seal 22,00
R206820 Screw M8X20 A2 DIN 1,70
R2301581 |Plastic washer D16/8 0,46
RSLO05 Shaft seal BA B SL05 13,00
R21256 Clamping screw 0,21
R242430 Cotter pin D 4X30 0,31
R93B Handle grip NIRA67 7,60
R1570713 [Hosepipe adapter 1">3/4 7,20
R20610201 Screw 1,80
P14705 Mounting fork flange 43,25
P14750 Bearing 5,40
P14742 Rocker arm 45,10
SD404 Washer 2,40
P14744 Handle mounting fork 61,65
P14747 Handle 55,65
P14749 Pump head top 110,30
SD14373 Pump head rod 65,00
SD302 Pump head pipe 86,00
SD1804 Base plate 33,80
Code Spare parts for NIRA 1 Antiqgue hand pump Price VAT 0%
P31503 Handle 45,00
P31502 Handle forked mounting 54,50
Al151 Pump Head 310,50
P1102 Base Flange 53,60
P4812 Basic Pump Head rod 37,80
R200850 Hexagonal screw M 8x50 1,18

Sivu 1 (4)

NIRA hand pumps

Price list 2015



NIRA PUMPS Oy

Tel: +358 10 830 6700

P.O. Box 54 Fax +358 10 830 6702
38201 Sastamala Email nira.info@nira.fi
www.nira.fi
R2268 Nut M8 0,62
R200835 Hexagonal screw M 8x35 0,62
R2001280 [Hexagonal screw M 12x80 1,40
R22612 Nut M12 0,62
R2001040 [Hexagonal screw M 10x40 1,18
R22610 Nut M 10 0,62
R5819 Gasket 3,15
SD106 Coupling 47,8 x 1/8" 26,85
M2100K Riser pipe 1m 26,85
L2102 Plunger rod 1m 36,40
1.1102 Plunger rod 0,5m 31,80
Code Spare parts for Nira 3 B hand pump Price VAT 0%
P31503 Handle 45,00
P31502 Handle forked mounting 54,50
P31501 Pump head top 64,80
P33 Pump head pipe 1 1/2" 18,70
P32 Pump head rod 37,80
L2102 Plunger rod 1 mtr 36,40
SD106 Coupling 47,8x1/8 26,85
M2100K Riser pipe 1 mtr 26,85
P34 Pump head pipe coupling 1 ¥2"x47,8x1/8" 39,80
R200850 Hexagonal screw M 8x50 1,18
R2268 Nut M8 0,62
R2001280 |Hexagonal screw M 12x80 1,40
R22612 Nut M12 0,62
R2001040 |Hexagonal screw M 10x40 1,18
R22610 Nut M 10 0,62
P423 Base flange 33,80
Code Spare pars for NIRA Cylinder Price VAT 0%
P31 Cylinder complete / plastic 157,65
P27 Cylinder coupling 47,8x1/8" 43,00
P29 Cylinder valve body 1 1/4" 53,60
P28 Cylinder pipe / plastic 52,00
R30 Cylinder valve 16,40
P35 Cylinder plunger rod 26,35
R56 Plunger seal 15,20
P605 Plunger complete 42,00
R1964058 |[Suction pipe HDPE 40 mm / 1m 8,20
R26211440 [Coupling 1 1/4"x40 mm 18,00
2002 Bottom valve 1 1/4" 21,00
Code Spare parts for Nira 1 D Handpump Price VAT 0%
R406 Rubber Plug 4,60
SD1802 Cover 61,40
R4827 Cover seal 26,25
R242430 Cotter pin 2,40
SD404 Washer 2,40
R4826 Spout seal 10,50
R202845 Hexagonal screw M 8x45 A2 2,40
SD102 Spout 48,00
SD105 Hose coupling for the spout 35,00
R202840 Hexagonal screw M 8x40 A2 1,80
R2288 Nut M 8 A2 0,55
SD1804 Base plate 33,80
SD106 Coupling 47,8x1/8" 26,85
M2100K Riser pipe 1m 26,85
SD5122 Coupling W 68x1/8 / W 47,8x1/8 43,25
SD5121 Cylinder pipe 51,85
SD5118 Bottom valve limiter 21,00
R5389 Bottom valve 15,20
SD5117 Bottom valve body 35,80
R202850 Hexagonal screw M 8x50 A2 1,90
R903 Shaft seal 8,80
P91802 Collar of saft seal 10,50
R202820 Hexagonal screw M 8x20 A2 1,80
R919 Handle Grip 7,60

Sivu 2 (4)

NIRA hand pumps
Price list 2015



NIRA PUMPS Oy Tel: +358 10 830 6700
P.O. Box 54 Fax +358 10 830 6702
38201 Sastamala Email nira.info@nira.fi
www.nira.fi
SD103 Pump head rod 56,20
L2102 Plunger rod 1,0 M 36,40
1.1102 Plunger rod 0,5 M 31,80
SD5120 Plunger coupling 17,50
R4697 Plunger seal 20,50
SD5119 Plunger 37,90
1052 Cylinder complete 210,00
Code Spare parts for Nira 3, 4, 4B, 4A, 5 ja 5A hand pumps Price VAT 0%
P415 Plunger repair kit Nira 3, 3A, 4, 4A, 5 ja 5A pumppuihin 40,90
R406 Rubber plug 4,60
R405 Pump head rubber seal 19,80
SD105 Hose coupling for the spout 35,00
SD1804 Baseplate 33,80
R2001250 |Hexagonal screw 4,00
R919 Grip 7,60
P12556 Handle 13,40
P38 Handle mounting ring 58,40
R56 Plunger seal 15,15
P55 Plunger complete 42,00
R51 Cylinder valve 16,30
P36 Pump head rod 56,30
P33 Pump head pipe 1 ¥2" 18,70
P34 Pump head pipe coupling 1 ¥2"x47,8x1782 39,80
P37T Handle complete 97,40
M2100K Riser pipe 1 mtr 26,85
SD106 Coupling 47,8x1/82 26,85
L2102 Plunger rod 1 mtr 36,40
PK201B Plunger rod 4B 55,00
P3100 Plunger rod 3B 35,80
P4403 Plunger rod splice 13,40
P504B Weldable repair kit for the plunger rod joint 42,00
R410 Cylinder seal 5,90
R411 Cylinder valve 16,30
R416 Plunger seal 15,15
Code Spare parts Nira 6 B hand pump Price VAT 0%
KL1801 Elbow fitting 13,40
SL1801 Fitting 10,00
P601 Body complete 71,45
R603 Saft Seal 8,80
R603Eco Saft Seal, Eco for oil and diesel oil, only 13,15
R603V Saft Seal, Viton 15,40
R603E Saft Seal, EPDM 14,20
R604 Cylinder seal 4,60
R604Eco Cylinder seal, Eco for oil and diesel oil, only 9,65
R604V Cylinder seal, Viton 11,30
R604E Cylinder seal, EPDM 10,40
R56 Plunger seal ( Year 1989 and before) 15,50
R56Eco Plunger seal, Eco ( Year 1989 and before) for oil and diesel oil, onl 21,60
R56V Plunger seal, Viton ( Year 1989 and before) 25,30
R56E Plunger seal, EPDM ( Year 1989 and before) 23,40
R606 Plunger seal 15,15
P61803 Plunger body 13,95
R230102 Washer 0,62
P605 Plunger complete ( Year 1989 and before ) 42,00
P607 Plunger complete 29,90
P608 Cylinder pipe 18,65
R609 Bottom valve 15,20
R609Eco Bottom valve, Eco for oil and diesel oil, only 21,60
R609V Bottom valve, Viton 25,30
R609E Bottom valve, EPDM 23,40
P610 Bottom valve body with valves 45,70
P61805 Bottom valve body without valves 25,80
R611 Gasket for flange 4,50
P61807 Flange %" 15,15
P61806 Flange 1" 15,50
R22610 Nut M10 0,62
R619 Handle rubber grip 7,60

Sivu 3 (4)

NIRA hand pumps
Price list 2015



NIRA PUMPS Oy Tel: +358 10 830 6700
P.O. Box 54 Fax +358 10 830 6702

NIRA hand pumps
Price list 2015

38201 Sastamala Email nira.info@nira.fi
www.nira.fi
P61802 Seal collar 8,80
R2268 Nut M 8 0,62
R6B Nitrile seal set (Year 1989 and before ) 78,80
R6B1 Nitrile seal set (Year 1989 onward) 78,80
R6BV Viton seal set (Year 1989 and before ) 143,50
R6BV1 Viton seal set (Year 1989 onward ) 143,50
R6BECco Eco seal set, for oil and diesel oil, only 122,20
R6BE EPDM seal set 132,85
P8411 Connecting-pipe R 2" / R 1" for barrel use 29,20
Code Spare parts Nira 9 hand pump Price VAT 0%
P901 Body complete 114,50
R903 Saft seal 8,80
R410 Cylinder Seal 5,90
R416 Plunger Seal 15,15
P907 Plunger complete 42,00
P908 Cylinder Pipe 29,70
R909 Bottom valve 15,15
P910 Bottom valve body with valves 67,10
R911 Gasget for flange 4,50
P91806 Flange 1v4" 17,50
P91807 Flange 1v%" 17,50
R22610 Nut M10 0,62
R22612 Nut M12 0,62
R919 Handle rubber grip 7,60
P91802 Seal collar 10,50
R2268 Nut M8 0,62
R9 Nitriel seal set 87,60
P91805 Bottom valve body without valves 35,00
ROV Viton seal set 164,00
Code Spare parts Nira 2 hand pumps (Barrel pump) Price VAT 0%
P201 Body 22,15
P202 Plunger rod 5,90
R5657 Plunger spring 5,10
P605 Plunger complete (Year1989 and before) 42,00
R56 Plunger seal (Year1989 and before) 15,15
P607 Plunger complete 29,90
R606 Plunger seal 15,15
P61803 Plunger body 13,95
P608 Cylinder pipe 18,65
R604 Cylinder seal 4,60
P208 Shaft 7,00
R2781224 |O-ring for saft 1,20
P210 Handle 4,50
R211 Handle ball grip 2,20
R2008110 Bolt M8x110 1,15
R2268 Nut 0,62
P214 Bottom valve body 16,30
R215 Bottom valve 13,40
R217 Suction pipe 2,30
R2 Nitrile seal set 32,80
R2V Viton seal set (Year1989 and before) 66,50
R2V1 Viton seal set (Year1989 onward ) 66,50
R19819 Connection pipe 1,70
R2621928 |Hose clamp 2,30
Code Other products Price VAT 0%
2001 Bottom valve 1" 12,20
2002 Bottom valve 1 1/4" 21,00
2003 Bottom valve 1 1/2" 24,00
Terms of deliveries; Ex works Sastamala, Finland.
NIRA PUMPS Oy reserves the rights to price changes.

Sivu 4 (4)



